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ak kth

Ts

ak 2 {0, 1} ak 2 {−1, 1}
ak 2 {0, 1} δ

Td Td ≥ Tp Tp
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+
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Min{f(x)}
�

Ax = b ≥

xk+1 = xk + ↵dkx

↵ ≥ 0 dkx 2 Rn

x⇤

x̂ = D−1x





Symbol Parameter Value Unit

L Active region length 500 10
-6 m

w Active region width 2 10
-6

m

d Active region thickness 300 10
-9

m

α0 Active region reference losses 21692 m
-1

αc Confinement region losses 497 m
-1

αs Losses at optical defaults 395 m
-1

αN Differential active region losses with respect to carrier density 1.139 10
-21 m

2

αλ Differential active region losses with respect to wavelength 0.0 m
-2

Γo Reference confinement factor 0.3

ΓN Differential confinement factor with respect to carrier density 9.914 10
-28

m
3

Γλ Differential confinement factor with respect to wavelength 10028 m
-1

N0 Transparency carrier density 6.5 10
23

m
-3

a0 Differential peak-gain coefficient with respect to carrier density 2.617 10
-20 m

2

a1 Convergence parameter needed for simulations 1.2 m

λ0 Gain peak wavelength at transparency carrier density 1617 10
-9

m

b0 Differential gain peak wavelength with respect to carrier density -3.783 10
-32

m
4

b1 Second order differential gain peak wavelength with respect to carrier density 2.017 10
-57

m
7

λz0 Wavelength at begin of zero-gain region at transparency carrier density 1662 10
-9

m

z0 Differential begin of zero-gain region with respect to carrier density 1.02 10
-32

m
4

z1 Second order differential begin of zero-gain region with respect to carrier density 4.012 10
-57

m
7

Kg Spontaneous emission coefficient 2.775

Δλse Spectral shift between material gain peak and spontaneous emission peak -34.4 10
-9

m

ϵCH Compression coefficient due to carrier heating 0.3 10
-23

m
3

α_CH Linear enhancement factor due to carrier heating 1

ϵSHB Compression coefficient due to spectral hole burning 0.7 10
-23 m

3

ΔλSHB FWHM of the spectral hole burning process 30 10
-9

m

Rl Linear ohmic resistance 6.75 10
-4 Ω m

-1

Ne Equilibrium carrier density 1 10
17

m
-3

η Ideality factor 2

T SOA’s temperature 295 K

Ast Linear recombination coefficient 2.302 10
8 s

-1

Bns Bimolecular recombination coefficient 3.124 10
-18

m
3

s
-1

Cau Auger recombination coefficient 9.754 10
-39

m
6

s
-1



@E(z, t)

@z
= −

↵

2
E − β1

@E

@t
+ j

β2

2

@2E

@t2
+

β3

6

@3E

@t3
− jγ|E|2E

↵ βk = dkβ
d!k

�

�

!=!0
β(!)

!0 γ



w(t) =
X

k

N
X

j=1

bj,kakpj(t− kT − "k)

ak dk
"k = 0 "k =

dkΓ

w(t) =
N
X

j=1

dj(t) ⇤ pj(t)

dj(t) =
P

k

bj,kakδ(t− kT − "k)

P

dj(t)

Sw(f) = SD(f)|
N
X

j=1

Pj(f)|2

SD(f) Pj(f)
pj(t)

SD(f)

SD(f) =
D

E



d|D(f, t)|2
dt

�

E

< . >
t

|D(f, t)|2 =
�

�

�

�

�

Z t

−1
d(⌧)e−j2⇡f⌧d⌧

�

�

�

�

�
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|D(f, t)|2 =
X

k

X

l

bkbk+lakak+l e
2⇡fT lje2⇡fj("k+l−"k)⇥

u(t− kT ) u(t− kT − lT )

u(t)

E

"

d|D(f, t)|2
dt

#

=
X

k

Rb(0)Ra(0) E [δ(t− kT )]

+
X

l<0

X

k

Rb(l)Ra(l)Rm(l) e
j2⇡fT l

E [δ(t−KT )]

+
X

l>0

X

k

Rb(l)Ra(l)Rm(l) e
j2⇡fT l

E [ δ(t−KT − lT )]

Rb(l) Ra(l) Rm(l)
bk ak mk = e−j2⇡f"k

X

l

ej2⇡fT l =
1

T

X

k

δ(f −
k

T
)

SD(f) =
1

T

h

�

σ2
b̂
σ2
â + σ2

b̂
µ2
a + µ2

bσ
2
â + µ2

bµ
2
a − µ2

bµ
2
a|µm|2

�

+
µ2
bµ

2
a|µm|2
T

X

k

δ(f −
k

T
)
i

µ⇥ ⇥ σ

bk = µb + b̂k E

h

b̂kb̂k+l

i

= σ2
b̂
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���� ������� ���� ������� �������� ��� �������������� � ����������� ���� ����������������� ��� ��� �������
incluant son énorme bande passante, offrent la possibilité d’une bonne qualité de service à longue portée. 

��� ������������ ��������� ���� ����� ����� ��������� ����� ���� ������������ ��� �������� ���������� ��� ����������
particulières, imposées par l’autorité de régulation (FCC pour les Etats�������� ��� ���������� ��� ������
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����������� ��������� ����� ������ ������� ���� ��������������� ��� ���� ���� ���� ����������� ��� ����������� ����
��������� ��� ����distorsion analogique des formes d’ondes électriques. Un traitement basé sur ������� ��
���������� ���� �������� ����� �������� �������������� ������������ ��� ������ ��� �����������������������������������
����� ������ �� ���� ����������� ��� ��������� réparties entre l’émetteur et le récepteur. Avec la transmission 
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�������������� ��� ���� ����� ������� ��� ������� ���� ��� �������� ������������� ����������������� ��������� ����������
de randomisation de formes d’ondes a été étudiée, qui s'est révélée efficace pour supprimer ces pics 

����������� ���� ������ ���������� ���� ������� ��� ������ ���������� ����� ���� �������� ��� ���� ������� ��� ������
Position Modulation, à longue portée optique. Les performances d’une modulation différentielle ������
������ ������� ���� ����������� ���� ����������� ���� ������������ ��������� ����������� �� ���� ��������
������������������ ��������������� �������������������������� ����������������
����� ������ Ultra WideBand (UWB), Impulse Radio, Randomisation de formes d’ondes, Amplificateur 
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